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GENERAL STUDIES (PAPER-I)

maximum Marks : 250

ﬁme Allowed : Three HoursJ
QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

are TWENTY questions printed both in HINDI and in ENGLISH.

There
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the

authorized one.
Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question

Nos. 11 to 20 should be in 250 words.
Keep the word limit indicated in the questions in mind.
Any page or portion of the page left blank in the Question-cum-Answer Booklet must be

clearly struck off.
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FoafF X IM-ARF T 7w Fwis iR AE &1 3 o el A it A

l.
(3W 150 w=3t # ifsm)
Underline the changes in the field of society and economy from the Rig Vedic to the
later Vedic period. (Answer in 150 words)
2. @Em wra § w7 T F fawm & S F ugdl F ARA F O fitg)
(3W 150 w= 1 Aifv)
Estimate the contribution of Pallavas of Kanchi for the development of art and
literature of South India. (Answer in 150 words)
3. A WA-H v off fos Fro wwa 912 wiidew gE gan? o vRom e Hifm)
(W 150 w=1 ¥ Aifsm)
What were the events that led to the Quit India Movement? Point out its results.
(Answer in 150 words)
4. W90 wae & AmwE # 3fe w0 ¥ % somieEd g F Awin W 5wl w27
(W 150 =i 7 Zifem)
What is sea surface temperature rise? How does it affect the formation of tropical
cyclones? (Answer in 150 words)
5. OR W&l A gon § 72w i vl @ @ st w0 8 e 366 b S
A § e e i (3W 150 W=l # i)
Why do large cities tend to attract more migrants than smaller towns? Discuss in
the light of conditions in developing countries. (Answer in 150 words)
6. 'GRE W' 6 wimen 7 27 =men i) (W 150 w5t # i)
What is the phenomenon of ‘cloudbursts? Explain. (Answer in 150 words)
7. ‘Swiferd Wa (s fre)’ A s@gwon w020 w0 9 gfa @ Rm A 3R I 7
fawar | =amu) (W 150 wr=i # difsm)
What is the concept of a ‘demographic winter'? Is the world moving towards such a
situation? Elaborate. (Answer in 150 words)
8. it T, Wi v v afeen wafrmon F 4 sia 9 we Bt FRiE 6 e s
F # fE wER A own § @ W owey 37 (3W 150 w=di F difvrm)
Distinguish between gender equality, gender equity and women’s empowerment.
Why is it important to take gender concerns into account in programme design and
implementation? (Answer in 150 words)
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9. HR WHIRE-3nfia va aref il e siawda faw 59 @ o 92 €, fig simenfits fam
AR A TR W w2 R A (3T 150 =1 § Aifi)

Intercaste marriages between castes which have socio-economic parity have
increased, to some extent, but this is less true of interreligious marriages. Discuss.
(Answer in 150 words) 10

10. fowra % wmfe-anfile g2 @ Aot 3§ wer, f-wed e @ el de6 F @ B o w
A waitE I gm? (3| 150 =1 A difem)
In dealing with socio-economic issues of development, what kind of collaboration

between government, NGOs and private sector would be most productive?
(Answer in 150 words) 10

11. "Feis wem Sie mes @ A 76 § S 3w 9 angEan & a1 § I varedl F
FR 3 ot 3% aga T | IR o wm R)” Roefi i (3W 250 W= | i)

“Though the great Cholas are no more yet their name is still remembered with great
pride because of their highest achievements in the domain of art and architecture.”
Comment. (Answer in 250 words) 15

12, T8 #e F& oF 3fa R o vuw fywge qem: ofe-dges 9 a9 wl & frg @ @ @17

(3W 250 w=t & dfom)
How far is it correct to say that the First World War was fought essentially for the
preservation of balance of power? (Answer in 250 words) 15

13. ¥ H wEfey SR FR TR ¥ ww F o et A ohefe wfR Wl 0w seer o7

(IW 250 w=at # i)
How far was the Industrial Revolution in England responsible for the decline of
handicrafts and cottage industries in India? (Answer in 250 words) 15

14, 7 9@t i ywe g 8§ iR vz o @ 0 T vwa B mm-gen B R wnfia o 27

(3 250 W= # i)
The groundwater potential of the gangetic valley is on a serious decline. How may it
affect the food security of India? (Answer in 250 words) 15

15. #m sfRfaw o s Sfmfm = €2 3 53 e B 87 (I 250 vr=E1 § difm)

What are aurora australis and aurora borealis? How are these triggered?
(Answer in 250 words) 15

16. B @ ¥7 AR A @l & v & aa 7 afem e w9 2@ wm #

(3 250 w= # Hifsm)

What is a twister? Why are the majority of twisters observed in areas around the
Gulf of Mexico? (Answer in 250 words) 15
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17.

18.

19.

20.
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Bl sramT T 27 9w v @ R e fm 27 v § it s #1 ge e i 87
(3W 250 =@t # Afo)

What is regional disparity? How does it differ from diversity? How rscrious is the
issue of regional disparity in India? (Answer in 250 words)

T S W = A s AR § g, Sl o | T A HEuE e
FEHHE FHAT w1 Q0 @ T fe e 2 Rewfl Ak (3W 250 W=t # i)

Despite comprehensive policies for equity and social justice, underprivileged
sections are not yet getting the full benefits of affirmative action envisaged by the

Constitution. Comment. (Answer in 250 words)
Adfr 3 faftm T 1 gvw, T TE sREa wfensit g wed v d g f 2w ol
T AR WOAW Td URER F Wy gE) W e 2 27 (Im 250 weat # dfm)

Globalization has increased urban migration by skilled, young, unmarried women
from various classes. How has this trend impacted upon their personal freedom and
relationship with family? (Answer in 250 words)

@ aPma =1 TeETeE e fifwe 5 owma B wrghe e v amnfe-anfds
Hmaarsll ¥ 919 v Teq wEEay R (3| 250 w=at & i)

Critically analyse the proposition that there is a high correlation between India’s
cultural diversities and socio-economic marginalities. (Answer in 250 words)
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